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1. # atb+c=0- K T =?(A)2 (B)-2 (O)1 (D)1
<fEAfT>
" (atbtc)=a’*+b*+c*+2(abtbctca) » H atb+c=0
. 0=a*+b*+c*+2(ab+bctca) —  a*+b*c’= -2(ab+bctca)
a b2+ __ 2(abtbctca) N
abtbctca  ab+betea 2> 2 B-
2. As shown in the figure, there are six point on the number axis 4 B C D E F
(#4ifil) and AB=BC=CD=DE=EF, what is the nearest integer s 11

(22 to the number represented ({XFEAVEY) by the point D? (A)4 (B)S (C)6 (D)7
<fEAfT>
11-(-5)=16
16+5=3.2
D=11-3.2-3.2=4.6=5 > % B -

3. B EHAAREHIT-TIEAYALR 10 7T A-TEAVAL R 5 0 RIELARE T =1 THAVA Ry {n] 2
(A)-15 (B)15 (C)-20 (D)20

<Ht>

ar+art+...+a10=10 > H a1tar+... +ax0=5

Coantant.. . Aa=5-10=-5—40FE/\F=-5-10=-15

azitant....... +azo=(-5)+(-15)=-20
C.S30=10+(-5)+(-20)=-15 > & A -
<53

artart... +a10=10 > H aitax+....+ax=5
(a+a+9d)x10+2=10—>2a=2-9d
(a+a+19d)x20+2=5—>(2-9d+19d)x20+2=5 » 10d=-1.5 > d=-0.15
(at+a+29d)x30+2=(2-9d+29d)x15=(2-20x0.15)x15=-15
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4. & a>0 ~ b<0 > lfif|x-al+x-bl=a-b FRITHT x BUEFEEE °
(A) b=x<a (B) b<x<a (C) x<b<a (D) x<b<a

<fEtfr>

"' |x-a|+|x-bl=a-b=(a-x)+(x-b)

Ix-al=a-xPa-x>0—a>x > |x-b|=x-b=»x-b>0—x>b

Ub<x<a > FEA -

5. #p=VTV8 > ¢=V6-v9 > r=/5-V10 L& p ~ g ~ r HIRIN?
(A) r>p>q (B) r>q>p (C) p>q>r (D) p >r>q

<fiEf>

P=(T-V8) =15-2v/36 » ¢>=(v6-y9) =15-2/54 » r2=(v/5-yT0) =15-2v/50

Hp~qrr<0 r@>g>p?

Car<g<p— p>q>r> #EC -

6. =1Ev2020%2021x2022 x2023+1-2021%= .(A)2020 (B)2021 (C)2022 (D)2023
<S>

% a=2020 » [F==a(a+1)(a+2)(a+3)+1= a (a+3)(a+1)(a+2)=(a*+3a)(a*+3a+2) +1

% x=a*+3a > (a*+3a)(a*+3a+2) +1—>x(x+2)+1=x’+2x+1=(x+1)?

CUER= /(x+1)2—20212= /(aZ+3a+1)2-20212=20202+3><2020+1-20212
=(20202-2021?)+6060+1=-4041+6061=2020 > #E A -

7. CAEIZIEFC O axtT BREA x2-2x+b S RIS x+3 0 BR-xt+4 0 3K axb=?
(A4 (B)4 (C)6 (D)-6

<fEAT>

X tax+T=(x>-2x+b)x(x+3)+(-x+4)

2 x=3 fAA

J.=2749-3a+7=3+4 > -3a=18 > a=-6 3

X H+x2-6x+T7+x-4= x> +x2-5x+3= (x2—2x+b)73)

C.b=1 > HI] axb=(-6)x1=-6 > 3 D o

8. It’s know that x, y are real number, v3x+4+)2-6y+9=0, then x+y=
2 4 5 7
(A) 3 B) 5 © 3D 3
<fEtfr>

Et=\3xt4+(-3)*=0 > H x ~ y ZEHE
C3x+4=0 H y-3=0

.'.x:? H y=3-)x+y=?+3=§ » BEC o
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1. WEE(e)  FER—EL L > FE 4 BEEEESHEEREN -,

i

— S 7 2 —f z
7.+ ELIEI(b) D N BERR AR SRS RITAREIN  - 5200 % o
BEREGH 15 AR QLB L i L
B HIE A B AR f (EEREEEET

<fRAT> [El(a)
OEFHFE=50 #b » HAZEEE=0(BIHE )

@1 F) » FHIBZ=9+50=0.18(AR)—>HELZ 1 #h ik

HIJFH YR E=1.5+0.18=1.68

QLK 40 FHEZ » HHE A BifZH) 1.68x40=67.2 /N R -

2. Both roots of the equation x*+ax+a+6=0 for x are integers. What are all possible values of a?
<fgetir>

a*-4a-24E5E 2

Oa*-4a-24=1 > a*-4a-25=0—~F&

@a’-4a-24=4 > a*-4a-28=0—F &

®a*-4a-24=16 > a*-4a-40=0—>F £

@a*-4a-24=25 > a’>-4a-49=0—F &

®a*-4a-24=36 > a’-4a-60=0—(a-10)(a+6)=0 > a=10 -6 (3 53/5 47)

3. —(EIEEEE n > ENILE 168 B —({E5E2F 5% - S E 100 3SE S—(E5E =V I7%80

stk 22 (B IR 2 °
<fEtr>
n+168=a*........... )
n+100=b>........... ©)
D-@—a* b*=68

(a+b)(a-b)=68=1x68=2x34=4x17
C.atb=34 > a-b=2=>»a=18 ~ b=16
. .n+168=18°=324 » n=324-168=156

11 2 4 8
4. _+_+ + + — o

/fbﬁzﬁl-a I B R A —
<fihfr>
1,1 2 4 8 _ l+atl- 2 4 8§ 2 2 4 8
—t—t——+ =— = +—+
l-a 1+a 1+a®2  1+a*  1+a® (1-a)(1+a) 1442 1+a* 1+a8 1-a®> 1+a® 1+a* 1+a8
_242a%42-2a | 4 8 4 4 8 _4+4a*+4-4a* 8 8 8 16

T(1-ad)(1+a?)  1+a*  1+a® 1-a* 1+a* 1+a® (1-a®)(1+a?)  1+a8 1-a°  1+a® 1-q0
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5. H~Z N~ T ~ KAEABIEEARFEWAIE L > ERZEFIERT 2 ARE » NE
FIHIER T 3 ARG » TEFHIELS 6 AR « ERAERINEIL A m AR » (5
Zo~ T R ERTE—EHS L Alm= o

<> -

B HH F5(0, 0) > HITT(0, 6) ~ (3, 0) » Z(-2,0)

(0, )L A y=ax+b=>b=6

(-2, OfL A y=ax+b=>-2a+6=0 > a=3

SCHEAR TR y=3x16

x=3 > y=3x3+6=15

W3, 15) > Bl m=15

6. %‘ﬁ xl ~ xz ~ x3 SN o, ~ x7 i/:j% E ?ﬁ%ﬁ ’ H x1<x2< X3< ...... < _X6< _x7 ’ R x1+x2+ X3+ ...... + X6+
x7=159 » Hl x1+xo+ x5+ x4 INE KMEZ °
<fihi>

"oxrtrt st s B RAE > xsxetoer EE/ME

2 x7=a > xe=a-1 > xs=a-2 > xs=a-3 > x3=a-4 > x;=a-5 > x1=a-k
Coat(a-1)+H(a-2)+(a-3)+(a-4)+(a-5)+(a-k)=159

. 7a-15-k=159 > Ta =174+k

‘& a=26 > k=8

X1t X3t X4=(26-8)+H(26-5)+H(26-4)+H(26-3)=18+21+22+23=84

7. BARRIEEEMAER - ERAER: TR  REMENER A
i o FI3 EMEILE 15 0 GLERIVER T IEEMOERE

<fietfi>

(EGERCAIENEE Nl ORI miTe (VB

10x+y
3

10y+x= +15 > 30y+3x=10x+y+45

C-Tx29y=45 0 y=3 {L A
“Tx+29x3=45 » x=6
HFH FE=3%10+6=36

8. There is a four-digit number abcd that is a multiple of 11, b+c=2a, and the two-digit number
bc 1s a perfect square number. This four-digit number is

<figffr>

LIRS 11 BYRERL 0 ate-(b+d)=0 B 11 HYEE

H be B5E2E77% > be=01~04~09 ~ 16 ~ 25~ 36 ~ 49 ~ 64 ~ 81

SVE bte=0+4—a=2 ; b+tc=6+4—>a=5

®a=2 > b=0> c=4 > d=6

@a=5>b=6 > c=4 > d=3

RIEEPUAr #5=2046 5 5643 (55— (BRI E#H%E S 77)
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1. B~ ZZ ANEFER—HF TR 4 Kal5ek > BBIEEEZIBIER 6 KT > B ~ 4=
NIBIEE TR R5ER?

<S>

e FHIETERR x KAl5eRk @ RII ZJ8ERE x+6 K] 5ERK

H— RS » Z— K] —ax( + )=

4(x+6)+4x=x(x+6)

x2-2x-24=0

(x-6)(x+4)=0

x=6 B x=-4(~ &) > x+6=6+6=12

CHBECR  ZHE 12K -

2. BLH: b<c > 1<a<b+c<a+l > KZ&: b<a

<figffr>

KB b<c » Ll 2b<b+c > ALAFH bte<a+l 15 2b<a+1 >
FrllE 1<a 5 1+a<2a: Frll 2b<l+a<?2a - B[l b<a E¢1r -
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